HAILREE S B [ T =ik B

LIiZ

GEE

N0163

PN SOk - )1 T AT 3-7 2020.10.14
B22-1325 + FAX22-3883 * E f—V sihoko@mbr.nifty.com ([EIILIES
T F Y G FEL AR
E Np &
bmbeW%ﬁTgh:$§ i
BEE7), 00 8e SUPTHEOMFRSELNETRETEST. S ox [ F (7 < % e ORIz
LIEREATRE ERH T3R8 meMEeREToTECs. | MK b £ G0 8 L D2 < _ @
________________________________________ 0?&77L~”—Ui7ﬁil_ﬁ’? 50)7 0
% S s M EDTErEO o2 2 H=
R PRIEFILPEH T # T + -
(R B eRETE Eeenn | UARBIETFY B 48 T gk & ° , J:
v 1028 0K 180 ARETE EEatenE | AV HIKEES j%:” ) .‘jj_ Y 0D
o 11719 (R) 10:000 AIEFE B HR SATHEUENS, e ‘)‘ ) f% a 22 %
LU (8) IBUNARETE FEEEAN | bame HUFd | 2% zp g WEPD g
PLLC0 BANERETE BIBTER | e peyn | % B g AR S = i
o 11/26 OR) 18:30m RRAEFE b H e h Z?z - = . C
VU0 B) 0N ARETE wEesaE N AAEC 9./ NN 5
st EBEETEREANG 26 2TH B gD
7 /N X < % 1<
A M S L T B MEV A o E P EL A 3 <
e - RSET S PN -SSR
FIGMORE - - - 3'3:,%,&)<H&%;E?3;§+3Eﬂ‘ﬁi7’%f‘@/“U U
GIGARG—IE - - - - - e YD e BE X gl s a2y T AED
sowemonk 4 MR R HEOL DT AT FLAEA E
EREEORT - - - 4 Hy%;}gfig PR 2N 2 A \\mybcs‘@
BRRERRORR - - - - - 5 @i@%’)j‘%xégﬁgwiﬁﬁi LTT2 | &
fﬁtiﬁ~~|~6 j;,g_ﬁ'@if,uﬂi/)l/ﬁw—"@bﬁ fcoo)eé’“jj] s
ARBBRASAY R NN A AV s S h N
a7 G Araom Kaaicl TaEzTl
gl XM FEE © DS g A AN
Bemow s BHEESHTMELR)IND LSz P
Rl 4R fcﬁgﬁbjﬁs%‘;;\@;%m t{é': ?}‘/ﬁﬁ—d—;b;hu
A TR AT A IR TR NN IV AR NI VR AR Y
TAGICSKOETHRBR(IMMEEHRERBE  yocrmany A
EBE Wk WIm X zEE2>2T4 2
o R 19 = 16| . AHBLIZEFECT ¢ <
ey N AN G 2NN "R
R 7 = 5 WA T 7 S 6 F
T AT T 20 = o0 = mIE LWV AR 28 W
TFY R Eﬂ}yﬁfa;{az%iyﬁ;{btgﬁ,nj(7»:—»[@ 20 = 5 |21#18128 - AN é: H % % 'd; 8. D {I%
. A 71'> j 2& 2 =i 1 % %
FALSUR | MR 23 = 21 [ 21%2A% Ef‘_;_l < Mz T I::]l o B
T S 12 = 6 | 108% IR 5] 3 % H ﬁé
- A7x VAN IETLO—ILEREL R | 20 = 5 W ?{: A 2 f‘:' ’f@
H—ARSUT — 12A# F 6 Z W DX E R M
AR B, SARTERD 18 = 5 5 X D sy < 1
LR — AT AT, R 12 = 8 1283% 'd'; 5 D D 1z =] it % 573 ﬁ
Fxa TRIEFERR . AH | FEEE, STILIET) 15 = 10 12 73k ,3 =] E‘é B L & &
U FY | AR R 25 — 13 - nEZTHLEXR A
ELFFIU |LANTY, ATz, A R) TP —E R 21 = 7 | 21#8A% N n DT A= ¢
V7 =7 7 LARSY 21 — 9 12A33% » .
U pstmnam, we B | o0 = 13 | 2irsmk =
ST %f_%?)ﬁg’;};:;)ﬁk%%ﬁ?:c\I/ZF—T/, 20 = 9 128% Q \J :
EIR Y TEIARERE. LANS Y, AT 20 = 15 1273% %JDE
wo54F | SZALIE 20 = 0 12 5%
rLa L AT Y, SCARIEED 18 = 8 12735k 5 'tZ
HFT ALY (EBELAEES 12 = 8 10818 g_ﬂ /r
=7 B 16— 14 - A
AT AR 16__= 10 - <
SywAd | R 165 = 15 | 21#3A% <
anvEy H7x, AT 8 = 0 1283 ﬂ
iz =i, FFOA, FEANA Ty, T, TARUT 22 =x
(LAAIREET BRERTI10/115 X080k - T — jiddrad b, FeEae] 'g'




